% BEFORE QC PTS REMOVED

% XBT-CTD COMPARISON

%       Michael J. Roth Scott Boedeker

%       OC3570

%       13MAR01

%

clear

for count = 1:28

   % Load  in XBT for all runs

   xbt1=load('xbt1.edf');

   xbt2=load('xbt2.edf');

   xbt3=load('xbt3.edf');

   xbt4=load('xbt4.edf');

   xbt5=load('xbt5.edf');

   xbt6=load('xbt6.edf');

   xbt7=load('xbt7.edf');

   xbt8=load('xbt8.edf');

   xbt9=load('xbt9.edf');

   xbt10=load('xbt10.edf');

   xbt11=load('xbt11.edf');

   xbt12=load('xbt12.edf');

   xbt13=load('xbt13.edf');

   xbt14=load('xbt14.edf');

   xbt15=load('xbt15.edf');

   xbt16=load('xbt16.edf');

   xbt17=load('xbt17.edf');

   xbt18=load('xbt18.edf');

   xbt19=load('xbt19.edf');

   xbt20=load('xbt20.edf');

   xbt21=load('xbt21.edf');

   xbt22=load('xbt22.edf');

   xbt23=load('xbt23.edf');

   xbt24=load('xbt24.edf');

   xbt25=load('xbt25.edf');

   xbt26=load('xbt26.edf');

   xbt27=load('xbt27.edf');

   xbt28=load('xbt28.edf');

   % Load in CTD for all runs

   load('ctd1.asc');

   load('ctd2.asc');

   load('ctd3.asc');

   load('ctd4.asc');

   load('ctd5.asc');

   load('ctd6.asc');

   load('ctd7.asc');

   load('ctd8.asc');

   load('ctd9.asc');

   load('ctd10.asc');

   load('ctd11.asc');

   load('ctd12.asc');

   load('ctd13.asc');

   load('ctd14.asc');

   load('ctd15.asc');

   load('ctd16.asc');

   load('ctd17.asc');

   load('ctd18.asc');

   load('ctd19.asc');

   load('ctd20.asc');

   load('ctd21.asc');

   load('ctd22.asc');

   load('ctd23.asc');

   load('ctd24.asc');

   load('ctd25.asc');

   load('ctd26.asc');

   load('ctd27.asc');

   load('ctd28.asc');

   % Set up active CTD and XBT for analysis and plotting

   if count == 1

      xbtdeptht=xbt1(:,1);

      xbttempt=xbt1(:,2);

      deptht=ctd1(:,4);

      tempt=ctd1(:,5);

   elseif count == 2

      xbtdeptht=xbt2(:,1);

      xbttempt=xbt2(:,2);

      deptht=ctd2(:,4);

      tempt=ctd2(:,5);

   elseif count == 3

      xbtdeptht=xbt3(:,1);

      xbttempt=xbt3(:,2);

      deptht=ctd3(:,4);

      tempt=ctd3(:,5);

   elseif count == 4

      xbtdeptht=xbt4(:,1);

      xbttempt=xbt4(:,2);

      deptht=ctd4(:,4);

      tempt=ctd4(:,5);

   elseif count == 5

      xbtdeptht=xbt5(:,1);

      xbttempt=xbt5(:,2);

      deptht=ctd5(:,4);

      tempt=ctd5(:,5);

   elseif count == 6

      xbtdeptht=xbt6(:,1);

      xbttempt=xbt6(:,2);

      deptht=ctd6(:,4);

      tempt=ctd6(:,5);

   elseif count == 7

      xbtdeptht=xbt7(:,1);

      xbttempt=xbt7(:,2);

      deptht=ctd7(:,4);

      tempt=ctd7(:,5);

   elseif count == 8

      xbtdeptht=xbt8(:,1);

      xbttempt=xbt8(:,2);

      deptht=ctd8(:,4);

      tempt=ctd8(:,5);

   elseif count == 9

      xbtdeptht=xbt9(:,1);

      xbttempt=xbt9(:,2);

      deptht=ctd9(:,4);

      tempt=ctd9(:,5);   

   elseif count == 10

      xbtdeptht=xbt10(:,1);

      xbttempt=xbt10(:,2);

      deptht=ctd10(:,4);

      tempt=ctd10(:,5); 

   elseif count == 11

      xbtdeptht=xbt11(:,1);

      xbttempt=xbt11(:,2);

      deptht=ctd11(:,4);

      tempt=ctd11(:,5);

   elseif count == 12

      xbtdeptht=xbt12(:,1);

      xbttempt=xbt12(:,2);

      deptht=ctd12(:,4);

      tempt=ctd12(:,5);

   elseif count == 13

      xbtdeptht=xbt13(:,1);

      xbttempt=xbt13(:,2);

      deptht=ctd13(:,4);

      tempt=ctd13(:,5);

   elseif count == 14

      xbtdeptht=xbt14(:,1);

      xbttempt=xbt14(:,2);

      deptht=ctd14(:,4);

      tempt=ctd14(:,5);

   elseif count == 15

      xbtdeptht=xbt15(:,1);

      xbttempt=xbt15(:,2);

      deptht=ctd15(:,4);

      tempt=ctd15(:,5);

   elseif count == 16

      xbtdeptht=xbt16(:,1);

      xbttempt=xbt16(:,2);

      deptht=ctd16(:,4);

      tempt=ctd16(:,5);

   elseif count == 17

      xbtdeptht=xbt17(:,1);

      xbttempt=xbt17(:,2);

      deptht=ctd17(:,4);

      tempt=ctd17(:,5);

   elseif count == 18

      xbtdeptht=xbt18(:,1);

      xbttempt=xbt18(:,2);

      deptht=ctd18(:,4);

      tempt=ctd18(:,5);

   elseif count == 19

      xbtdeptht=xbt19(:,1);

      xbttempt=xbt19(:,2);

      deptht=ctd19(:,4);

      tempt=ctd19(:,5);   

   elseif count == 20

      xbtdeptht=xbt20(:,1);

      xbttempt=xbt20(:,2);

      deptht=ctd20(:,4);

      tempt=ctd20(:,5); 

   elseif count == 21

      xbtdeptht=xbt21(:,1);

      xbttempt=xbt21(:,2);

      deptht=ctd21(:,4);

      tempt=ctd21(:,5); 

   elseif count == 22

      xbtdeptht=xbt22(:,1);

      xbttempt=xbt22(:,2);

      deptht=ctd22(:,4);

      tempt=ctd22(:,5); 

   elseif count == 23

      xbtdeptht=xbt23(:,1);

      xbttempt=xbt23(:,2);

      deptht=ctd23(:,4);

      tempt=ctd23(:,5); 

   elseif count == 24

      xbtdeptht=xbt24(:,1);

      xbttempt=xbt24(:,2);

      deptht=ctd24(:,4);

      tempt=ctd24(:,5); 

   elseif count == 25

      xbtdeptht=xbt25(:,1);

      xbttempt=xbt25(:,2);

      deptht=ctd25(:,4);

      tempt=ctd25(:,5); 

   elseif count == 26

      xbtdeptht=xbt26(:,1);

      xbttempt=xbt26(:,2);

      deptht=ctd26(:,4);

      tempt=ctd26(:,5);    

   elseif count == 27

      xbtdeptht=xbt27(:,1);

      xbttempt=xbt27(:,2);

      deptht=ctd27(:,4);

      tempt=ctd27(:,5); 

   elseif count == 28

      xbtdeptht=xbt28(:,1);

      xbttempt=xbt28(:,2);

      deptht=ctd28(:,4);

      tempt=ctd28(:,5); 

   end

   % Convert CTD depth in dbar to meters

   lat=36*(pi/180);

   r=1-((5.92+5.25*((sin(lat))^2))*10^-3);

   s=2.21*10^-6;

   z=r.*deptht-(s.*((deptht).^2));

   % Set max depth to 758.7792 meters, if not 758.7792 m depth add NaNs

   % Correct CTD Temp

  % if count == 2

  %    tempt(8:9)=[NaN];

  %    tempt(11)=[NaN];

  % end

  % if count == 9

  %    z=z(1:321);

  %    z(322:383)=[NaN];

  %    tempt=tempt(1:321);

  %    tempt(322:383)=[NaN];

  % end

  % if count == 10

  %    z=z(1:202);

  %    z(203:383)=[NaN];

  %    tempt=tempt(1:202);

  %    tempt(203:383)=[NaN];

  % end

   if count == 1

      zplot=z(1:383);

   end

   z=z(1:383);

   tempt=tempt(1:383);

   % Set up figure number

   figure(count);

   % Plot CTD temp vs. depth

   h=subplot(1,2,1);

   pla=plot(tempt,z);

   % Set up title

   if count == 1

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD1/XBT1 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 2

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD2/XBT2 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 3

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD3/XBT3 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 4

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD4/XBT4 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 5

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD5/XBT5 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 6

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]); 

      title('CTD6/XBT6 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 7

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD7/XBT7 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 8

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD8/XBT8 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 9

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD9/XBT9 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 10

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD10/XBT10 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 11

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD11/XBT11 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 12

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD12/XBT12 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 13

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD13/XBT13 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 14

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD14/XBT14 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 15

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD15/XBT15 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 16

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD16/XBT16 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 17

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD17/XBT17 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 18

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD18/XBT18 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 19

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD19/XBT19 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 20

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD20/XBT20 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 21

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD21/XBT21 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 22

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD22/XBT22 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 23

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD23/XBT23 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 24

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD24/XBT24 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')  

   elseif count == 25

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD25/XBT25 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 26

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD26/XBT26 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 27

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD27/XBT27 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')

   elseif count == 28

      set(h,'ydir','reverse','xlim',[5 20],'xtick',[5 10 15 20]);

      title('CTD28/XBT28 Temperature vs Depth')

      set(h,'ygrid','on','gridlinestyle','-')    

   end

   if count==6

      xlabel('Temperature ( ^\o C)')

      ylabel('Depth (m)') 

   else

      xlabel('Temperature ( ^\o C)')

      ylabel('Depth (m)')

   end

   % Interpolate XBT to match CTD depths

   tempmod = interp1(xbtdeptht,xbttempt,z);

   % Remove flagged points

   if count == 1

      tempmod(1:383)=[NaN];

      tempmod(14:16)=[NaN];

      tempmod(58:383)=[NaN];

  end

%   if count == 2

%      tempmod(1)=[NaN];

%   end

 %  if count == 3

 %     tempmod(1)=[NaN];

 %     tempmod(1)=[NaN];

 %     tempmod(14)=[NaN];

 %  end

%   if count == 4

%      tempmod(15)=[NaN];

%  end

%   if count == 5

 %     tempmod(16)=[NaN];

 %     tempmod(19)=[NaN];

 %  end

 %  if count == 6

 %     tempmod(1:2)=[NaN];

 %     tempmod(16:19)=[NaN];

 %  end

 %  if count == 7

 %     tempmod(1)=[NaN];

 %     tempmod(19)=[NaN];

 %  end

 %  if count == 8

 %     tempmod(1)=[NaN];

 %     tempmod(16:17)=[NaN];

 %  end

%   if count == 9

 %     tempmod(16)=[NaN];

 %     tempmod(29)=[NaN];

 %  end

%   if count == 11

%      tempmod(18)=[NaN];

%   end

%   if count == 13

%      tempmod(13:14)=[NaN];

%   end

%   if count == 14

%      tempmod(16:18)=[NaN];

%      tempmod(21)=[NaN];

%   end

%   if count == 15

%      tempmod(14:15)=[NaN];

%   end

%   if count == 16

%      tempmod(15)=[NaN];

%   end

%   if count == 17

%      tempmod(18)=[NaN];

%   end

%   if count == 18

%      tempmod(1)=[NaN];

%      tempmod(18:19)=[NaN];

%   end

%   if count == 19

%      tempmod(18:20)=[NaN];

%   end

%   if count == 20

%      tempmod(1:2)=[NaN];

%      tempmod(16:17)=[NaN];

%   end

%   if count == 25

%      tempmod(1:2)=[NaN];

%   end

%   if count == 26

%      tempmod(1)=[NaN];

%   end

%   if count == 27

%      tempmod(1)=[NaN];

%      tempmod(8)=[NaN];

%   end

%   if count == 28

%      tempmod(1)=[NaN];

%   end

   % Plot XBT temp vs. depth

   hold on

   plb=plot(tempmod,z,'r-');

 %  if count==6

 %     set(pla,'linewidth', 2)

 %     set(plb,'linewidth', 2)

 %     set(hxL,'color',[0 0 1])

 %     set(hyL,'color',[0 0 1])

 %  else

 %  end

   % Set up legend

   if count == 1

      legend('CTD1','XBT1',4);

   elseif count == 2

      legend('CTD2','XBT2',4);

   elseif count == 3

      legend('CTD3','XBT3',4);

   elseif count == 4

      legend('CTD4','XBT4',4);

   elseif count == 5

      legend('CTD5','XBT5',4);

   elseif count == 6

      legend('CTD6','XBT6',4);

   elseif count == 7

      legend('CTD7','XBT7',4);

   elseif count == 8

      legend('CTD8','XBT8',4);

   elseif count == 9

      legend('CTD9','XBT9',4);

   elseif count == 10

      legend('CTD10','XBT10',4);

   elseif count == 11

      legend('CTD11','XBT11',4);

   elseif count == 12

      legend('CTD12','XBT12',4);

   elseif count == 13

      legend('CTD13','XBT13',4);

   elseif count == 14

      legend('CTD14','XBT14',4);

   elseif count == 15

      legend('CTD15','XBT15',4);

   elseif count == 16

      legend('CTD16','XBT16',4);

   elseif count == 17

      legend('CTD17','XBT17',4);

   elseif count == 18

      legend('CTD18','XBT18',4);

   elseif count == 19

      legend('CTD19','XBT19',4);

   elseif count == 20

      legend('CTD20','XBT20',4);

   elseif count == 21

      legend('CTD21','XBT21',4);

   elseif count == 22

      legend('CTD22','XBT22',4);

   elseif count == 23

      legend('CTD23','XBT23',4);

   elseif count == 24

      legend('CTD24','XBT24',4);

   elseif count == 25

      legend('CTD25','XBT25',4);

   elseif count == 26

      legend('CTD26','XBT26',4);

   elseif count == 27

      legend('CTD27','XBT27',4);

   elseif count == 28

      legend('CTD28','XBT28',4);

   end

   hold off

   % Quality control for XBT

   % Open file to write flagged results to

   if count == 1

      flname='text1.txt';

   elseif count == 2

      flname='text2.txt';

   elseif count == 3

      flname='text3.txt';

   elseif count == 4

      flname='text4.txt';

   elseif count == 5

      flname='text5.txt';

   elseif count == 6

      flname='text6.txt';

   elseif count == 7

      flname='text7.txt';

   elseif count == 8

      flname='text8.txt';

   elseif count == 9

      flname='text9.txt';

   elseif count == 10

      flname='text10.txt';

   elseif count == 11

      flname='text11.txt';   

   elseif count == 12

      flname='text12.txt';

   elseif count == 13

      flname='text13.txt';

   elseif count == 14

      flname='text14.txt';

   elseif count == 15

      flname='text15.txt';

   elseif count == 16

      flname='text16.txt';

   elseif count == 17

      flname='text17.txt';

   elseif count == 18

      flname='text18.txt';

   elseif count == 19

      flname='text19.txt';

   elseif count == 20

      flname='text20.txt';

   elseif count == 21

      flname='text21.txt';

   elseif count == 22

      flname='text22.txt';

   elseif count == 23

      flname='text23.txt';

   elseif count == 24

      flname='text24.txt';

   elseif count == 25

      flname='text25.txt';

   elseif count == 26

      flname='text26.txt';

   elseif count == 27

      flname='text27.txt';

   elseif count == 28

      flname='text28.txt';

   end

   fid = fopen(flname,'w');

   fprintf(fid,'%s\n','XBT');

   if tempmod(1) - tempmod(2) > .2 | tempmod(1) -tempmod(2) <-.2;

      s='flagged';

      fprintf(fid,'%8.4f\t\t %s\n',z(1),s);

   end

   for ind = 2:382;

      check = (tempmod(ind-1)+tempmod(ind+1))/2;

      if tempmod(ind)- check > .2 | tempmod(ind)- check < -.2;

         s='flagged';

         fprintf(fid,'%8.4f\t\t %s\n',z(ind),s);

      end

   end

   if tempmod(383) - tempmod(382) > .2 | tempmod(383) -tempmod(382) <-.2;

      s='flagged';

      fprintf(fid,'%8.4f\t\t %s\n\n',z(383),s);

      s='bottom';

      fprintf(fid,'%8.4f\t\t %s\n\n',z(383),s);

   else

      s='bottom';

      fprintf(fid,'%8.4f\t\t %s\n\n',z(383),s);

   end

   % Quality control for CTD

   fprintf(fid,'%s\n','CTD');

   if tempt(1) - tempt(2) > .2 | tempt(1) -tempt(2) <-.2;

      s='flagged';

      fprintf(fid,'%8.4f\t\t %s\n',z(1),s);

   end

   for ind = 2:382;

      check = (tempt(ind-1)+tempt(ind+1))/2;

      if tempt(ind)- check > .2 | tempt(ind)- check < -.2;

         s='flagged';

         fprintf(fid,'%8.4f\t\t %s\n',z(ind),s);

      end

   end

   if tempt(383) - tempt(382) > .2 | tempt(383) -tempt(382) <-.2;

      s='flagged';

      fprintf(fid,'%8.4f\t\t %s\n',z(370),s);

   s='bottom';

      fprintf(fid,'%8.4f\t\t %s\n',z(383),s);

   else

      s='bottom';

      fprintf(fid,'%8.4f\t\t %s\n',z(383),s);

   end

  % if count == 8

  %    s='bottom';

  %    fprintf(fid,'%8.4f\t\t %s\n',z(122),s);

  % end

  % if count == 9

  %    s='bottom';

  %    fprintf(fid,'%8.4f\t\t %s\n',z(321),s);

  % end

  % if count == 10

  %    s='bottom';

  %    fprintf(fid,'%8.4f\t\t %s\n',z(202),s);

  % end

   fclose(fid);

   % Subtract XBT temp from CTD temp

   tempdiff=tempt-tempmod;

   % Plot Tempdiff vs depth

   i=subplot(1,2,2);

   p2=plot(tempdiff,z);

   % Set up title

   if count == 1

      title('CTD1/XBT1 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 2

      title('CTD2/XBT2 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 3

      title('CTD3/XBT3 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 4

      title('CTD4/XBT4 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 5

      title('CTD5/XBT5 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 6

      title('CTD6/XBT6 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 7

      title('CTD7/XBT7 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 8

      title('CTD8/XBT8 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 9

      title('CTD9/XBT9 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 10

      title('CTD10/XBT10 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 11

      title('CTD11/XBT11 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 12

      title('CTD12/XBT12 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 13

      title('CTD13/XBT13 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 14

      title('CTD14/XBT14 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 15

      title('CTD15/XBT15 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 16

      title('CTD16/XBT16 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 17

      title('CTD17/XBT17 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 18

      title('CTD18/XBT18 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 19

      title('CTD19/XBT19 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 20

      title('CTD20/XBT20 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 21

      title('CTD21/XBT21 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 22

      title('CTD22/XBT22 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 23

      title('CTD23/XBT23 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 24

      title('CTD24/XBT24 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 25

      title('CTD25/XBT25 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 26

      title('CTD26/XBT26 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 27

      title('CTD27/XBT27 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')

   elseif count == 28

      title('CTD28/XBT28 Temperature Difference')

      set(i,'ydir','reverse','xlim',[-1.5 1],'xtick',[-1.5 -.5 0 .5 1]);

      set(i,'ygrid','on','gridlinestyle','-')   

   end

   if count==6

      xlabel('Temperature Difference ( ^\o C)')

     % tempdifarr(:,count)=tempdiff;

  else

      xlabel('Temperature Difference ( ^\o C)')

     % tempdifarr(:,count)=tempdiff;

  end

  tempdifarr(:,count)=tempdiff;

end

tempdifarr=tempdifarr';

tempdifmean =  nanmean(tempdifarr);

tempdifstd1 =  nanstd(tempdifarr);

tempdifmean =  tempdifmean';

tempdifstd1 = tempdifstd1';

stdplotp=tempdifmean+tempdifstd1;

stdplotn=tempdifmean-tempdifstd1;

figure(29)

j=axes;

z=zplot;

plot(tempdifmean, z, '-r', stdplotp, z, '-b', stdplotn, z, '-b');

title('Composite CTD-XBT Temperature Difference and Standard Deviation')

set(j,'ydir','reverse');

%,'xlim',[-1 .5],'xtick',[-1 -.5 0 .5]);

grid on

set(j,'gridlinestyle','-')

xlabel('Temperature Difference ( ^\o C)')

ylabel('Depth (m)')

legend('Composite Average', 'Standard Deviation', 4);

